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SH: SAITHAMEEC
MM KZIsst SATHMAIY FE(SAITHA)
X

R =X HMAS (2 &HH)
SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
T Al XH A =& E 7,788,675 6,658,928 1,129,747
= 2,452,000
Al 2,136,500
- 3,200,175
KNEIsst SAITHMAISY =X (S A A) 7,716,505 6,587,878 1,128,627
g 2,452,000
Al 2,136,500
- 3,128,005
F=HX THAEAFS 7,430,500 2,651,300 4,779,200
Fag 2,452,000
Al 2,136,500
- 2,842,000
TAMEESHINS (BAUHSI D L =O{X THAHAIY) 474,000 1,935,000 A 1,461,000
(me)
401 AlEHIZL £ 0HY| 474,000 1,935,000 A 1,461,000
01 Al&H| 474,000 1,935,000 A 1,461,000
OLAstw L2 =HX HMEAIS (X EH) 474,000
CAIMESIHI A (SHMICHDE &G otXEH ZEEC 2,092,000 476,000 1,616,000
OI20HED|) (M EH)
Al 950,000
- 1,142,000
201 Bt 49,000 0 49,000
01 AP 22| H| 49,000 0 49,000
OFoUZ2SH S35 M (HEH 47,000
OAMBEE 312 S(HE) 2,000
401 Al HI L 204 HI 1,943,000 476,000 1,467,000
Al 950,000
- 993,000
01 Al&H| 1,926,000 456,000 1,470,000
OEHRLIE 2stHdE =& (&) 1,400,000
Al 950,000
- 450,000
O3NIUtOoF &NHole otde ZEEEE 0IS8tS
I (& &) 526,000
02 2elbl 17,000 20,000 A 3,000
OESHRLIEIMEHEZLAZ2 A 22 (HEH) 17,000
405 XH&HF S HI 100,000 0 100,000
01 XAt = EF S HI 100,000 0 100,000
O3NItHOF ol otdel ZEEE DISCtsS
Jl HIERY(HE) 100,000
SATHAY SEAIY 4,864,500 90, 300 4,774,200
Fag 2,452,000
Al 1,186,500
5 1,226,000




FMN: SAMNEZAC

3 XNH01

EHRlr F=HX HAAY (&)
SA - BB B () - MM - BES Ol &t o San HmEET
201 Le-2d| 214,300 76,500 137,800
s 67,500
Al 33,750
- 113,050
01 At 2t 2l 212,800 75,000 137,800
OzAtetn 29 20,000,000& x54! 100,000
s 50,000
Al 25,000
- 25,000
O0tS0ICIH At 15,000, 000& * 14! 15,000
s 7,500
Al 3,750
T 3,750
Odiltzel 2 2UHE 20,000,000& =14 20,000
s 10,000
Al 5,000
- 5,000
OSHZXNIEH 2 AR24H] 6,000
OBENAUH dHE, Ois&sIt =¥ 65,000
OSEXNAME dEXHS A= (1U) 4,800
OBENAEH 224 2,000
02 2324l 1,500 1,500 0
OZEXE RAdl S 1,500
203 ¥ S =&l 4,500 0 4,500
03 AIHZ=XH 2 =AH| 4,500 0 4,500
OZANTHY =AY R=2
5,000,000& *90% 4,500
401 AIEHIZL 20 4,045,700 0 4,045,700
s 2,084,500
Al 1,002,750
- 958,450
01 A& Bl 4,045,700 0 4,045,700
OHZEW ZE0tS, 24 A 4,045,700
as 2,084,500
Al 1,002,750
T 958,450
403 MHXISHHS =0l & 600,000 0 600,000
s 300,000
Al 150,000
T 150,000
02 S 2SO HEAHE R 2 E AL H 600,000 0 600,000
OFZEW FELIS, B4 A 600,000
s 300,000
Al 150,000
- 150,000
Est SAMEAY =& 256,005 3,936,578 A 3,680,573




M CAHMEEG

@ﬂ:méﬂg%rghmgAwiia(szg)

CHel: 2SS STATHMAIY =& (=& J)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
H=E0E S| 7,440 5,520 1,920

201 £B-2d| 5,640 3,720 1,920
02 3323l 5,640 3,720 1,920
OH=HEH 58 3323 5,640
—0lcltf H=EHH 100, 000& 124 & 1,200
-HEY dH=SHH 210,000& 1200 & 2,520
-HEd FH M2 160,000& 1200 & 1,920
203 YR =] 1,800 1,800 0
03 AIMZFAH S ZAY| 1,800 1,800 0
OH=0I=2USI| 2= 2,000,000 x90% 1,800
SEANME2LESE ALY 111,930 111,690 240
201 £B-2dH| 105,130 104,890 240
01 At 22/l 82,240 81,960 280
OZANMY 2Js & 29+
70,0003 x16Y +23| 2,240
OZANTHY & 22AY &4
20,000, 000& *3AH 60,000
OZATHA & OIS SIIAY X} (ppt, T
s) M 10,000
OZATHY &&s MAl-E22 M 10,000
02 2322l 22,890 22,930 AN40
OZEXE AsHAl 90
O=8X&Ed |AHl S 1,000
OZANTHHAIY AIE2 HAHM2L3 S
150,000& = 12& 1,800
OZAIHMEAY AIEE S RAE=UI 20,000
202 odl 5,000 5,000 0
01 = LH o4 1l 5,000 5,000 0
OZATHMAIY 24 XY NI (@A)
250,000& x20Y 13 5,000
203 R F=&H| 1,800 1,800 0
03 AIMZFAH S ZAY| 1,800 1,800 0
OZAHY HLFEH| 2,000,000& *90% 1,800
OIEXJIANR 23 96,635 53,368 43,267
101 1A dl 79,435 43,288 36,147
M4 IR Z22NHSES 79,435 43,288 36,147
OM1s BtE2=2l3 22l 26,479
-J=22 78,0233 x 12 +3002 23,407
—-4UE2d8 = 23,406,900& *10.28% 2,407
—LoE QYR s
23,406,900& *3.23%*8.51% 65
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M SATHMFAC
Mz HMSAHH (T AITHA)
@2 Jl2&tl (&2 &)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
01 AFR2 22l Yl 17,650 17,650 0
oZglEe EY 6,520
-5 160, 000& *2CH x4 4 1,280
-2 262,000 = 1CH x4 2H x50 5,240
O=sAMEXN 7L 1,410
- A4 20,000& *60EF A 1,200
- A3 21,000 x10&8F A 210
EA2Y9)|2424| 10,000& x15H x12& 1,800
OAZ2HAZ2 2 XS A
8,000& x5 54l x15H x12& 7,920
202 04 b 50,400 50,400 0
01 2LHOHI 50,400 50,400 0
O2L 0 bl 280,000& x158 x12& 50,400
203 PR =&Y| 3,000 3,000 0
04 ENSIHRF=AY| 3,000 3,000 0
ORNSYILE=XHI(1520]0l)
250,000& = 12& 3,000
405 XtabE SHI 1,120 0 1,120
01 AL 2B F SHI 1,120 0 1,120
OLZ2 X A 240,000& =24 480
O3JI88)] #¢ 640,000 ~10H 640




